
Level 8 (answers to assignment video – part 1) 

Chapter 4 :- Geometry 

Exercise – 1 

Find the angles marked with letters. 

3. Find the angles marked with letters 

Solution  

(The angles at a point add upto 3600 ) 

 𝟏𝟒𝟎𝒐 	+ 		𝟏𝟐𝟎𝟎 +	𝑪	( = 		 𝟑𝟔𝟎𝒐 

𝑪	( = 		 𝟑𝟔𝟎𝒐 	− 	𝟐𝟔𝟎𝒐 

𝑪	( = 		 𝟏𝟎𝟎𝒐 

 

7. Solution 

(The angles on a straight line add upto 1800 ) 

𝟑𝒂	 + 		𝟐𝒂 + 	𝒂 = 		 𝟏𝟖𝟎𝒐 

𝟔𝒂 = 		 𝟏𝟖𝟎𝒐 

𝒂 = 	
𝟏𝟖𝟎𝒐

𝟔
 

𝒂 = 	𝟑𝟎𝒐 

 



15. Solution 

(The angle sum of a triangle is 1800 ) 

𝟑𝒙	 + 		𝟒𝒙 + 	𝟐𝒙	 = 		 𝟏𝟖𝟎𝒐 

𝟗𝒙	 = 		 𝟏𝟖𝟎𝒐 

𝒙	 = 	
𝟏𝟖𝟎𝒐

𝟗
 

𝒙	 = 	𝟐𝟎𝒐 

𝟐𝒙	 = 	𝟐	 × 	𝟐𝟎𝒐 

𝟐𝒙	 = 	𝟒𝟎𝒐 

(The angles on a straight line add upto 1800 ) 

𝟐𝒙	 + 		𝒚 = 	𝟏𝟖𝟎𝒐 

𝟒𝟎𝒐 	+ 		𝒚 = 	𝟏𝟖𝟎𝒐 

	𝒚 = 	𝟏𝟖𝟎𝒐 −		𝟒𝟎𝒐 

𝒚 = 	𝟏𝟒𝟎𝒐 

 

 

 

 

 



 

19. Solution 

(The angle sum of a triangle is 1800 ) 

𝟐𝟐𝒐 	+ 	𝟒𝟔𝒐 + 	𝒚	 = 		 𝟏𝟖𝟎𝒐 

𝒚	 = 		 𝟏𝟖𝟎𝒐 −		𝟔𝟖𝒐 

𝒚	 = 		 𝟏𝟏𝟐𝒐 

 

(The angles on a straight line add upto 1800 ) 

𝒛	 = 		 𝟏𝟖𝟎𝒐 −		𝟏𝟏𝟐𝒐 =		𝟔𝟖𝒐 

(Isosceles triangle has two sides and two equal angle) 

 

𝒛	 + 	𝒛	 + 	𝒙	 = 	𝟏𝟖𝟎𝒐 

𝟔𝟖𝒐 	+ 		𝟔𝟖𝒐 + 		𝒙	 = 		 𝟏𝟖𝟎𝒐 

𝒙	 = 		 𝟏𝟖𝟎𝒐 −		𝟏𝟑𝟔𝒐 

𝒙	 = 		 𝟒𝟒𝒐 

  



21. Solution 

(The angle sum of a triangle is 1800 ) 

 𝟒𝟒𝒐 +	𝟔𝟎𝒐 	+ 		𝒃 =  𝟏𝟖𝟎𝒐 

𝒃	 = 		 𝟏𝟖𝟎𝒐 −		𝟏𝟎𝟒𝒐 

𝒃	 = 		 𝟕𝟔𝒐 

 

(The angles on a straight line add upto 1800 ) 

𝒄	 = 		 𝟏𝟖𝟎𝒐 −		𝟏𝟑𝟎𝒐 	= 		 𝟓𝟎𝒐 

(The angle sum of a triangle is 1800 ) 

𝟓𝟎𝒐 +		𝟕𝟔𝒐 	+ 		𝒂	 +		𝟒𝟒𝒐 	= 		 𝟏𝟖𝟎𝒐 

𝒂	 = 		 𝟏𝟖𝟎𝒐 	− 		𝟏𝟕𝟎𝒐 

𝒂	 = 		 𝟏𝟎𝒐 

 


